
Relations Inverses (E)
Remplissez les espaces blancs.

21 × 21 = 441 11 × 10 = 110 15 × 16 = 240 24 × 17 = 408
21 × 21 = ___ 10 × 11 = ___ ___ × 15 = 240 17 × ___ = 408
___ ÷ 21 = 21 ___ ÷ 10 = 11 240 ÷ ___ = 15 408 ÷ ___ = 24
441 ÷ ___ = 21 ___ ÷ 11 = 10 240 ÷ ___ = 16 408 ÷ ___ = 17

11 × 17 = 187 12 × 23 = 276 15 × 21 = 315 14 × 22 = 308
17 × ___ = 187 23 × ___ = 276 21 × 15 = ___ 22 × 14 = ___
187 ÷ 17 = ___ 276 ÷ 23 = ___ 315 ÷ ___ = 15 ___ ÷ 22 = 14
___ ÷ 11 = 17 276 ÷ 12 = ___ 315 ÷ 15 = ___ 308 ÷ ___ = 22

22 × 18 = 396 16 × 18 = 288 17 × 22 = 374 17 × 13 = 221
18 × ___ = 396 ___ × 16 = 288 22 × ___ = 374 13 × ___ = 221
___ ÷ 18 = 22 288 ÷ 18 = ___ 374 ÷ ___ = 17 221 ÷ 13 = ___
396 ÷ ___ = 18 ___ ÷ 16 = 18 ___ ÷ 17 = 22 221 ÷ 17 = ___

25 × 17 = 425 13 × 19 = 247 23 × 20 = 460 25 × 19 = 475
___ × 25 = 425 19 × 13 = ___ 20 × 23 = ___ ___ × 25 = 475
425 ÷ ___ = 25 247 ÷ 19 = ___ ___ ÷ 20 = 23 475 ÷ 19 = ___
425 ÷ ___ = 17 ___ ÷ 13 = 19 ___ ÷ 23 = 20 475 ÷ ___ = 19

18 × 14 = 252 11 × 10 = 110 11 × 20 = 220 10 × 16 = 160
14 × ___ = 252 10 × ___ = 110 20 × ___ = 220 ___ × 10 = 160
252 ÷ ___ = 18 110 ÷ ___ = 11 ___ ÷ 20 = 11 160 ÷ 16 = ___
252 ÷ 18 = ___ ___ ÷ 11 = 10 220 ÷ 11 = ___ ___ ÷ 10 = 16
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Relations Inverses (E) Solutions
Remplissez les espaces blancs.

21 × 21 = 441 11 × 10 = 110 15 × 16 = 240 24 × 17 = 408
21 × 21 = _441_ 10 × 11 = _110_ _16_ × 15 = 240 17 × _24_ = 408
_441_ ÷ 21 = 21 _110_ ÷ 10 = 11 240 ÷ _16_ = 15 408 ÷ _17_ = 24
441 ÷ _21_ = 21 _110_ ÷ 11 = 10 240 ÷ _15_ = 16 408 ÷ _24_ = 17

11 × 17 = 187 12 × 23 = 276 15 × 21 = 315 14 × 22 = 308
17 × _11_ = 187 23 × _12_ = 276 21 × 15 = _315_ 22 × 14 = _308_
187 ÷ 17 = _11_ 276 ÷ 23 = _12_ 315 ÷ _21_ = 15 _308_ ÷ 22 = 14
_187_ ÷ 11 = 17 276 ÷ 12 = _23_ 315 ÷ 15 = _21_ 308 ÷ _14_ = 22

22 × 18 = 396 16 × 18 = 288 17 × 22 = 374 17 × 13 = 221
18 × _22_ = 396 _18_ × 16 = 288 22 × _17_ = 374 13 × _17_ = 221
_396_ ÷ 18 = 22 288 ÷ 18 = _16_ 374 ÷ _22_ = 17 221 ÷ 13 = _17_
396 ÷ _22_ = 18 _288_ ÷ 16 = 18 _374_ ÷ 17 = 22 221 ÷ 17 = _13_

25 × 17 = 425 13 × 19 = 247 23 × 20 = 460 25 × 19 = 475
_17_ × 25 = 425 19 × 13 = _247_ 20 × 23 = _460_ _19_ × 25 = 475
425 ÷ _17_ = 25 247 ÷ 19 = _13_ _460_ ÷ 20 = 23 475 ÷ 19 = _25_
425 ÷ _25_ = 17 _247_ ÷ 13 = 19 _460_ ÷ 23 = 20 475 ÷ _25_ = 19

18 × 14 = 252 11 × 10 = 110 11 × 20 = 220 10 × 16 = 160
14 × _18_ = 252 10 × _11_ = 110 20 × _11_ = 220 _16_ × 10 = 160
252 ÷ _14_ = 18 110 ÷ _10_ = 11 _220_ ÷ 20 = 11 160 ÷ 16 = _10_
252 ÷ 18 = _14_ _110_ ÷ 11 = 10 220 ÷ 11 = _20_ _160_ ÷ 10 = 16
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